Assembling Instruction & Parts List
#4473

Item No. Scratching Post Height Color Color Code
i cream
4473 Seli 64.75 in.
(165 cm) gray 9
Description Measurement (O]TET,1414% Item No. O Item No. 1
21.25x21.25in.
Pos. 1 Bottom plate (540 x 540 mm) 1 44738-10 44739-10
. 21.25 x 21.25in.
Pos. 2 Lying plate bottom (540 x 540 mm) 1 44738-11 44739-11
. . 21.25 x 21.25in.
Pos.3 Lying plate, middle (540 x 540 mm) 1 44738-12 44739-12
. . 21.25x10.5in.
Pos. 4 Lying plate, middle/small (540 x 270 mm) 1 44738-13 44739-13
. N 13.75x 3.0 in.
Pos. 5 Lying plate, round with rim (0 350 x 80 mm) 1 44738-14 44739-14
12.0 x12.0 x 10.0 in.
Pos. 6 Cave (0 310 x 310 x 260 mm) 1 44738-15 44739-15 ] 2
©2.5x21.25in. :
Pos. 7 Post (0 66 x 540 mm) 1 44738-50 44739-50
Pos. 8 Post for bottom plate (: 6265)("510%5”:';) 1 44738-30 44739-30
- S
Pos. 9 Post with spacer bolt 025x19.5in. 3 44738-31 44739-31 —
(2 66 x 500 mm)
Pos. 10 Post with spacer bolt, short 02.5x9.25in. 1 44738-40 44739-40

(2 66 x 240 mm)

22.5x9.25in.
Pos. 11 Post, short (066 x 240 mm) 1 44738-41 44739-41 (, (‘ —
___—
___—

1\ (

i 225x11.25in.
Pos. 12 Post with spacer bolt (2 66 x 290 mm) 2 44738-42 4473942
Pos. a M0.3 x 1.75in. 4
. (M8 x 40 mm)

/)

M0.3 x 1.25in.
(M8 x 32 mm)

N
. C
MO0.3 x 3.25 in. c] _
Pos. c (M8 x 80 mm) > é-js‘@ | \Eg

Sy
%Ek
s (O) [ @A ®
’ This product should be assembled by an adult. Please check
the screws regularly and retighten them if necessary. (9)
Please continue assembling the tree top down. — <9>

Pos. b Screw-Set 1 44738-60 44739-60

s ()

Pos.c (0UDOIO—000UN0

120521 TRIXIE Pet Products, Inc. - P.O. Box 101196 - Ft. Worth, TX 76185 - www.trixiepet.com 77730



